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Which of the following devices is used for
the purpose of voltage regulation?

(i) P-N I

P-N junction

(i) (5T CR'C

Zener diode

(iii) &5

Transistor

(iv) <%

Capacitor
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What is Miller indices?
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ich of the following statements about

a transistor amplifier i
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is correct? plifier in CE configuration
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Discuss the formation of depletion layer
in a P-Njunction.
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Find the packing fraction for f.c.c.
lattice. .
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What is a primitive lattice cell? Explain
a three-dimensional primitive lattice cell

giving an example.
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If a transistor is in CE configuration and
its base current is 0-5 mA, then what
will be the value of collector current?

(Given thata =0- 96)
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s the working of a CE transistor
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Also calculate its gain.
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Des ;’gnth an experimental setup to

Sraw e characteristic curves of a

il Junction. Also discuss about the
acteristic curves with neat diagram
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ary diagram.
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Describe the NaCl and ZnS crystal

structure.
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What do you understand by transition
temperature, critical field and Meissner
effect in case of superconductivity?

Bi%e1-1 =% BiXel-11 oD o= & @2

What do you mean by type-1 and type-1II

superconductors?
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